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Total Marks ( 60)
I. Reading ( 30 Marks )
A) Vocabulary ( 14 Marks )

a) Choose the correct answer from a, b, ¢ and d: (4x2=8 marks)

1. Eating food rich in vitamins can make the ...................... system stronger.
a. concern b. immune c. cosmology d. goal

2. If you want the ball to .................. , you should hit it hard.
a. interfere b. thrive c. diagnose d. bounce

3. Antsworkin............... hot deserts where they build cities and farms underground.

a. scorching b. conventional c. material d. increased

4. The youngmanhadalotof.................. because of his job interview.
a. economist b. symptom C. anxiety d. abundance

b) Fill in the spaces with the most suitable word from the list below:(4x1%=6 marks)

( eventually / giant / traditionally /contagious / intellectual )

5. Gergea’aanis ................... celebrated in the middle of the holy month of Ramadan.
6. People who engagein ............... activities are less likely to develop Alzheimers disease.
7. Skillful workers built the pyramids by moving ................... blocks to the top.

8. After a long drive, we were ................... able to reach Bahrain.



C auall -2023,2022 - g

B) Reading Comprehension (16 Marks)

Read the following text carefully, then answer the question below:

Tokyo, Japan is divided up into small cities. There are
twenty-three cities that make up the whole of Tokyo. Tokyo is
a crowded noisy place to live in, especially for the 500,000
people who live there.

However, in 2002, one of the cities had a big problem.
Thieves were breaking into houses and stealing things! In fact,
in that year alone, more than 1,700 houses were broken into
The police knew that something had to be done to control (he
crime in the city.

The police proposed the idea of using flowers to control the crimes in the city. They
asked people across the city to plant flowers around their houses and along streets, especially
in places where crimes happened. The idea was that if people were outdoors taking care of
the flowers, they would be watching who comes and goes at the same time. Thieves would be
less likely to come when people were outdoors watching things closely.

Over the next few years, the smart idea of “Operation Flowers” seemed to work
surprisingly well. Just two years after people began planting flowers on streets and in front of
their homes, crime in the city became less! In addition to the flowers, the city police installed
200 security cameras all over the city. Also, the city had more than 9,000 volunteers to serve
as crime-watchers across the city. One thing that so many volunteers enjoyed was walking
around their neighborhoods, admiring the flowers that have been planted while they do their
duty as crime-watchers.

a) Choose the correct answer from a, b, ¢ and d: (6x2=12 marks)

9.The best title for the passage could be:

a. The People of Tokyo

b. A Smart Idea

c. A Noisy Place

d. Walking in The Neighborhood

10. The underlined word (proposed) in the 3™ paragraph means:

a. drank
b. closed
c. suggested
d. slowed



11. The underlined word ( they ) in the 3™ paragraph refers to:

a. flowers
b. crimes
¢. houses
d. people

12. There are ................. people living in Tokyo.

a. 500,000
b.1,700

c. 200

d. 9000

13. In 2002, one of the cities had a problem of ..... ..........

a. having few people living there. |
b. people growing flowers. ;
c. thieves breaking into houses.

d. people watching things closely.

14. The writer wrote this passage to:

a. persuade readers to cut flowers.

b. explain how to install security cameras.

c. discuss the importance of volunteer work.
d. tell us how Tokyo police controlled crime.

b) With reference to the passage, answer the following questions: (2x2=4 marks)

15. How did the police control the crime in the city?

............................................................................................................

............................................................................................................

............................................................................................................

............................................................................................................




II. Writing ( 30 Marks )

A) Grammar (14 Marks)
a) Choose the correct answer from a, b, ¢ and d :(4%x2=8 marks)

17. 1 arrived at the office after the meeting ....................... .

a. had started b. have started
c. start d. starting
18. Dolphins have good memory. .............. , they have the ability to learn new skills.
a. However b. Furthermore
c. In contrast d. On the other hand
19. Idon’thave ................. eggs for breakfast.
a.an b. some
c.a d. any
20. If I had enough money, I .................... a new iPad.
a. wouldn’t buy b. bought
c. would have bought d. would buy
b) Do as required between brackets:(3%2=6 marks)
21. Doctor:"The medicine can reduce headaches." (Change into reported speech)
22. The film was boring, I wish I (not come) to the cinema. (Correct the verb)
23. Shopping in stores is ( good ) shopping online. (Use the comparative adjective)

...................................................................................................



B: Writing 16 marks

“Prevention is better than cure”

We should protect ourselves from possible illnesses. Plan
and write a report of two paragraphs of not less than (12
sentences) showing how unhealthy habits lead to illness
whereas healthy habits keep you healthy and well.

* Your writing should include a topic sentence, supporting details and a conclusion.

The plan (2 marks)
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